	
KEY INSTANT RECALL FACTS
YEAR 6 – AUTUMN 2




I CAN MULTIPLY TENTHS AND INTEGERS
Example: 0.5 x 6 = 3
By the end of this term, children should be able to rapidly calculate the multiplication of tenths.
Please note, where we have provided links to online activities we expect children to seek parent/carer permission to do this first. 
	[image: ]It is always good to start with a visual representation. This image shows the relationship between multiplying whole numbers and multiplying by tenths by an integer(whole number).This image shows 8 x 0.1 = 0.8
(If you count the counters, there are 8 tenths, so the answer is 0.8)

This image shows 8 x 1 = 8


This will show children that when they multiply an integer and a tenth, the process is the same as multiplying two whole numbers.


[image: ]The example above is deliberately simple, to show the method. If we now make it more complex, there is a potential banana skins that children can slip up on, which can lead to inaccuracies.
[image: ]
This place value grid shows 0.3 because there are 3 tenths.
If we want to do 4 x 0.3 =, we will need to be precise with where we place the decimal point in our answer. 4 x 0.3 = 1.2. Because children will calculate this by doing 4 x 3, they risk giving the answer as 12 or as 0.12.


Using a visual representation will reenforce to children what they need to do in this situation.
[image: ]

	
After multiplying 3 tenth counters by 4, you end up with 12 tenth counters. This doesn’t work because you cannot record this as 0.12 (this is 12 hundredths). In this situation, we have to carry 10 tenths across into the ones column (they get exchanged for a one counter).


Now we have 1 counter in the ones column and 2 counters in the tenths column, which is 1.2





[image: ]








Here is another example with some questions to try. For now, try and use the same method:
[image: ]

Remember, avoid that banana skin by always making sure the decimal point is present and in the correct place.
Using a place value grid will help children understand where the decimal point should go.

[image: ]
This shows the process by multiplying 3.2 by 3. The answer of 9.6 is clear to see. To do this mentally, you can do 32 x 3 = 96 but you must remember to put the decimal point back in.Exchange 10 of the 0.1 counters for a 1 counter.


This method will also work if you have to carry to the next column (see below)
[image: ][image: ]
	
Don’t forget, if you end up with 10 or more tenths, like the example above, you will need to carry them to the ones column.

Feeling confident? Try these.

[image: ]


Now it’s time to see how quickly children can solve these problems as they race against the clock!
Play ‘Find the Match’: https://wordwall.net/resource/41835/maths/multiplying-decimals
[image: ][image: ][image: ]


[image: ]

If competing against the clock is too tricky, take this multiple-choice quiz: https://wordwall.net/resource/847549/maths/multiplying-decimals



In May, Year 6 pupils will sit their SATs. Here is an example of the sort of question they will need to be able to answer. It asks the children to multiply tenths by an integer.
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Key learning

= Dora uses place value counters to show that 6 lots of 2is 12,
and 6 lots of 0.2is 1.2

6x2=12
Use Dora’s method to complete the calculations.
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